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SeH3 - GRAPHS AND COORDINATE GEOMETRY, - 2007
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Sketch the following equations on'the number planes below. Mark any intercepts. if there are

no intercepts, mark two points on the graph. Your skeiches need not be to scale.
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2. _ {a) At what point do exponenti'ai graphé always cross the y axis? _
(b) Why? _ -
3. Sketch the graphs of these equations.
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4 Wirite the correct equati;::n under each sketch. -
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. On the set of axes below draw the riangle P(0,8) Q(8,7) R(4,0)
o y ! :
¢a)  Show that the triangle PQRisisosceles .
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¢4) Name the equal-sides
(<) Wirite down the coordinates of T, the Midpoinf of PR .
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¢l Show that QT is perpendicular to PR :

() Write the equation of QT

(£ Find the coordinates of point S, sothat PQRS is @ Rhombus. .
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SOLUTION S -,

Sketch the ‘moﬁ_oiaw equations on-the number planes below: Mark any intercepts. lf there are

no intercepts, mark two peints on the graph. Your sketches need not be to scale.

B3 Lo

(@ y=xF 3 (by y=-a"+4 y= ?.rm.us.mw: 205

) gr - kr >

LA 2.

) 4 \ iz e
ot - alf— — — }
.. =3 v~\ .wm Pﬁ.ﬂ\ )
Y Y
Yoo

@ At what point do exponential m_.mﬁ_._m m_émﬁ cross the y ads?

(b) Why?
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Sketch the graphs 2 these mncmaosm
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4. Write the correct mn:mmwz under each skelch. - |
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